Section 8.5

SOLVING TRIGONOMETRIC EQUATIONS

Example 1

Consider the equation 2 sin(t) = +/3. (A ”/ZL‘
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(1) Find the solutions to the equation on [0,27].
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- Example 2
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onsider the equation 4 cos(t) 2 e )é{j/ T
(1) Find the solutions to the equation on [0,2r].
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(2) Find the solutions to the equation on [—m, rt].
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Example 2 continued

Consider the equation 4 cos(t) = —2.

(3) Find all solutions
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Example 3

Find all solutions of the equation sin(t) = .312.
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Example 4
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Find all solutions of the equation tan(t) = /3.
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Example 5
(1) Find all solutions of the equation sm( ) = @
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Example 5 continued

(2) Write down all solutions that are within the interval [0,27].
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Example 6

(1) Find all solutions of the equation cot(3¥) =v3. —7 Een (3 b= —
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Example 6 continued

(2) Write down all solutions that are within the interval [0,27].
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Example7 S 7

Solve the equation 4sin?(x) = 3. Salx) =t _/_5,'
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Example 8
Solve the equation sin(2x) = .3cos(x).
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Example 9

Solve the equation 2sin?(x) + sin(x) = 1. —>
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Example 10

Solve the equation cos(2x) [\/§tan(2x) - 1] = 0.
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